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o FU g I T fF 3T FeT9F T FRT g 16 T
797 32 81
Please make sure that the printed pages in this

question paper are 16 in number and it contains
32 questions.

o Jo7-UF H e & # 3T /9 T8 FE TR oI G #H
B V-Gl & JE-J U7 g
The Code No. and Set on the right side of the

question paper should be written by the candidate
on the front page of the answer-book.

o ZYY o7 F TV [0GT & FT G GEl, HT FH HHE
ST [1E]

Before beginning to answer a question, its Serial
Number must be written.
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o FTCYRTHE % T 7 @l g/ 9 T 881

Don’t leave blank page/pages in your answer-book.

o JUTyRTHE % GfaRFT #F o dic TE Al o
STETETFE & [E SiT forar Fav 7 e

Except answer-book, no extra sheet will be given.
Write to the point and do not strike the written
answer.

o GRS YT T To FIT-GF YT HFT [or@)

Candidates must write their Roll Number on the
question paper.

o YUY J97 F FT 37 @ {4 I8 GvEd B T [ JeTGH
g7 g @& 8, T # W 39 g9 7 FE 0 amr
@B T8 BT A

Before answering the questions, ensure that you
have been supplied the correct and complete
question paper, no claim in this regard, will be
entertained after examination.

G F3sT
General Instruction :
() &H 7T a8
All questions are compulsory.
(i) 5 997-97 4 F7 32 §o7 & ol [ G 7] I
F§TINTHICTE -
This question paper consists of 32 questions

in all which are divided into four Sections :
A B CandD:
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G &5 GF F1 716 7% ZT 16 F97 &,
g% F97 1 3% & &1

Section A : There are 16 questions from 1
to 16, each of 1 mark.

G §: 357 % F17 §21 T 375 J97 &,
JR% 797 3 9% F &

Section B : There are 5 questions from 17
to 21, each of 3 marks.

G T : 39 G 522 §27 T FT 6 F97 &,
T9% 797 & 5% T &1

Section C : There are 6 questions from 22
to 27, each of 4 marks.

G 737 % 428 @32 T FT 5 F97 8,
J9% J97 5 31F # 81

Section D : There are 5 questions from 28
to 32, each of 5 marks.

(i) @9 § T & go7i 7 oyi® Rwey [T 1@ &
37 @ Q& 797 & T 81

Section D contains two questions where
internal choice have been provided. You

have to choose one of them.
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(4)
qUs - 3
SECTION - A

1. 0.0875 & g & &Y § @ Hikg

Express 0.0875 in the form g

4

The zeroes of 3x2 -x-4 are:
4

(A) _la _g

(B) 1> - g

4
© -13

4
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(5) 4803/(Set : C)
3. x+y=53N 2x -3y =4 H & HIOW 1

Solve :
x+y=5and 2x-3y=4

4. HF-G T 9 A. P. B ? 1
A 1,3,9,27, ...

B) a, 2a, 3q, 4a, ......
(C) aq, a2, a3, a4, ......

(D) 12, 22, 32, 42, ...

A) 1,3,9,27, .......

B) a, 2a, 3a, 4a, ......
C) aq, a2, a3, a4, ......
(D) 12, 22,32, 42, ...

5. 10,7, 4, ...... A. P. & 304l U8 Sq SIS 1
Find the 30th term of A. P. 10, 7, 4, ...... .

6. Hosh H AT =] § § TR I=I H TGN HA g, N

T &l 9RT 1
R e Bt awem 80 81 (wwfEetg, @)
4803/(Set : C) P.T.0.
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Fill in the blank using the correct word given in
bracket :

All ............ triangles are similar.

(isosceles, equilateral)

7. A THET B & S%al B A 4 : 58, @ ITh

TG GeTet &l U @ 1
(A) 16:25 (B) 5:4
(C) 4:5 (D) 2:4/5

Areas of two similar triangles are in the ratio of
4 : 5, then the ratio of their corresponding sides is :

(A) 16:25 (B) 5:4
(C) 4:5 (D) 2:4/5
8. B #, AB || OR, AB =3 @i, OR = 9 @l &R
PR=6 9, PB&H T=% & : 1
3
A B
o) R
(A) 4 q (B) 3 W
(C) 2 8 (D) 378 q Fig &
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In figure, AB || QR, AB=3 cm, QR =9 cm and
PR = 6 cm, the length of PBis :

P
A B
Q R
(A) 4cm (B) 3 cm
(C) 2cm (D) None of these

9. PG/, 30 W @ 3@ & TR 12 & 8 3R &=
P& gl 13 & 81 g9 @ Brewn s wifm 1

From a point P, the length of tangent to a circle
is 12 cm and distance of P from centre is 13 cm.

Find the radius of circle.

10. (-1, 5) iR (7, 3) orgell & &= & gl o @@ 1

Find the distance between the points (-1, 5) and
(7, 3).

11. A % fEui® a0 HIW, el AB g9 & & & e
% (2, -3) 8 AN B(1, 4) B 1

Find the coordinates of A, where AB is diameter
of circle whose centre is (2, -3) and Bis (1, 4).
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13.

14.
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(8) 4803/(Set :

cos 37°

sin 53°

N HqH ST HioT|

cos 37°

Find the value of .
sin 53°

T cotA= O A sinAd:

15°
15 8
(A) 17 (B) 17
15
< — (D) &9 9§ HI3 &l

8

If cotA :%, then sin Ais :

15 8
A) — B) —
(A) 17 (B) 17
15
(@) ry (D) None of these

gq @ aRfr 22 & Rl g9 @ B S| Fivw

C)

Circumference of a circle is 22 cm, find the

radius of the circle.
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15. TEE ST B STER H A 2r § a1 I SHas h

Bl ST H I 8 1
(A) 2nr(r+h

(B) nrh

(C) 2nrh

(D) = & H13 T

The diameter of the base of right circular
cylinder is 2r and its height is h. The volume of

cylinder is :

(A) 2mnr(r+h
(B) nrh
(C) 2nrh

(D) None of these

16. TF ¥q § 3 Tl Tg, 2 e AT X 4 @@ g &1 AR
% T I9 ¥ Aghes M S R, O 36 A em
%l TRERar T B 7 1

A bag contains 3 blue balls, 2 white balls and 4
red balls. If one ball is taken out at random from
the bag. What is the probability that it will be
Red ?
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17.

18.

19.

20.

(10)  4803/(Set : C)
gug -
SECTION -B

Rz T % 5 Th HURAT FE&A B 3

Prove that \/g is an irrational number.

SRS p(x):x3—3x2+5x—3 e SgUs
gx)=x%-2 B W AW PO AT AR ATHA
S T 3
Divide the polynomial p(x)= x3-3x2+5x-3
by the polynomial ¢g(x)= x2-2. Find the

quotient and remainder.

6 o TR a TH SHeEEX & & g T B/l &
TEE 4 Ho B TEF I FHI ThH HMR W SR A
TR 28 Ho Bl HAR & Harn K Hiw 3
A vertical pole of length 6 m casts a shadow 4 m
long on the ground and at the same time a tower
casts a shadow 28 m long. Find the height of the

tower.

s i 3
sinO0-cos0+1 1
sin®+cos®—-1 secO-tanH
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21. IS TP @ URY 72 T B IHH FFABA FG
BT 3
The circumference of semi-circular piece of
design is 72 cm. Find its area.
gue - 9
SECTION -C
22. Lol o Lol Damatm 4
2x 3y 3x 2y 6
Solve
L-FL:Q and i+i:E
2x 3y 3x 2y ©
23. 39Y U4 W@HM & Mg (a9 H) H oA (reciprocal)
Wmﬁsaéqaaﬁm%wwm%%
I A Y A i 4
4803/(Set : C) P.T.O.
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Prove that :

sinf@-cos0+1 1

sin®+cos®—-1 secH-tan®
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24.

25.

26.

(12) 4803/(Set : C)

The sum of the reciprocal of Rehman's age (in
years) 3 years ago and S years after from now is

%. Find his present age.

TH JoH 40 o YUlBl HT AT ST HOIC S 6 &/ fowew
2l 4

Find the sum of first 40 positive integers
divisible by 6.

Rrs #ifvTT & oF 90 &t Sitar & RRE oX @fer =™ e
@ Siar ¥ SUET B S R 4

Prove that the tangents drawn at the ends of a
chord of a circle make equal angles with the

chord.

frgafl (-3, 10) ¥R (6, —-8) & Shew A WETS FHl
RFg (-1, 6) Bbe orgu & fwifora aear R ? 4

In what ratio does the point (-1, 6) divides the
line segment joining the points (-3, 10) and

(6, -8).
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28.

29.
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T U & TF R Bl S ol e &l I &
P TR ST IR (i) T T9T G (ii) 2 R 6 &
S Red @5 d@e&AT (i) T v g 4
A die is thrown once. Find the probability of
getting (i) a prime number (ii) a number lying

between 2 and 6 (iii) an odd number.

gle - T
SECTION-D

f @ TR T 2x% - 7x+3=0 ® &
I 5

Solve the equation 2x2 - 7x+3=0 by
completing the square method.

X 8 it IR Hak 4 & & & wwlzag Brge @
@ Y o R o6 o BYE @ W SN,

Wﬂﬁﬁ%ﬁﬂﬂ@ﬂ@ﬁﬂﬁﬁ@ﬁﬂﬁaﬁaﬁlé
T 2h 5

Construct an isosceles triangle whose base is
8 cm and altitude 4 cm and then another

. . 1 .
triangle whose sides are 15 times the

corresponding sides of the isosceles triangle.
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30. = i : 5

cos 0 cos 0

— + - =2secH
1+sin® 1-sin®

Prove that :

cos 0 N cos 0
1+sin® 1-sin®

=2secO

AYqT
OR

AR N | TF U$ T O & 9N T g AN W
TWE gg ol & % s & Rer sHe & g & 8
AR TEE 30° H HOT g6 31 IS & IR g HB g,
et g @ Rrex SN @ ud g, 8 dio ¥ U3 A FAR
S i

A tree breaks due to storm and the broken part
bands so that the top of the tree touches the
ground making an angle 30° with it. The
distance between the foot of the tree to the point
where the top touches the ground is 8 m. Find
the height of the tree.
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31. % faai Brer 3.5 9 a1 OF 9 & SR W 8, S
S e A U ST WX TN §1 36 Raw@ @l

wg(ﬂ?wﬁlwatﬁ%wiﬁﬁﬁamww
EERIEIRIET B

A toy is in the form of a cone mounted on a
hemisphere of radius 3.5 cm. The total height of
the toy is 15.5 cm. Find the total surface area of
the toy.

32. 0% <qbM &M@ § 100 HAIH  (surnames) ferg
T ITH YA SIS qUHR @ eI bl Gl &
Frfoierd SIRERAT e A1 e

el g | 1-4 | 4-7 | 7-10 [10-13]13-16|16-19

HAH H G 6 | 30 | 40 | 16 | 4 4
ATl & AEHS AER Bl G S HifoT| 5

100 surnames were picked from a telephone

directory and the frequency distribution of the
number of letters in the English alphabets in the

surnames was obtained as below :

Numberof | 1-4 | 4-7 | 7-10|10-13|13-16|16-19

Letters

Number of | 6 30 | 40 | 16 4 4

Surnames

Determine the median number of letters in the

surnames.
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AYqT
OR

frfafad ofipe 75 el Sum<l & dR@ Siieser
(e 9) = gor ad ©

Gﬁaﬂzﬁlﬁ 0-20 20-40 [40-60| 60-80 80-100 |100-120
(gct )

FRARAT 10 15 12 21 8 9

SUHICN I AT SHa-eh S it

The following data gives the information on the

life-time (in hours) of 75 electrical instruments :

Life-time (in | 0-20|20-40|40-60| 60-80 | 80-100 [100-120

hours)

Frequency | 10 15 12 21 8 9

Find the mean life time of the instruments.
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